74. Improving transport and communications cost effectiveness
1. Missing words:

Transport is the process of moving people or goods from one place to another, whereas communication involves the ____________________ of information between individuals or groups.  Effective transport and communications are both essential in modern society.  People need to be able to move around in order to go to work, but also for leisure and shopping activities.  Firms rely on transport as part of the ____________________ process, bringing in workers and raw materials as ________________ and sending out finished products for ________________________ to customers.  The quality of the decisions taken by individuals and businesses depends to a large extent on having access to complete and accurate information.  The increasing rate of technological change in both transport and communications has made a significant contribution to _________________________, integrating the world’s economies more closely.  Multinational corporations have benefited from concentrating production in low-cost areas for sale in _________________________ around the world. Even the smallest firms have managed to access international markets cheaply via the Internet.

Hint: words from – distribution, exchange, globalisation, inputs, markets, production

2. Key terms - matching activity:

Match the term on the left to its accurate definition / explanation on the right in the table below:

	Key term
	Definition / explanation

	1. Congestion charge

2. Transport infrastructure
3. Economies of scale
4. Private Finance Initiative

5. Super-fast broadband

	a) Where the vast scale of modern container ships allows the transport cost per tonne to be reduced dramatically, e.g. from China to Europe
b) Where a private sector firm builds and/or maintains a piece of infrastructure, such as a road, which is then leased back by the government over a long period of time.

c) The use of optic fibres in cables that allow digital communication to be faster and more reliable than before. This allows instant communication between Tokyo and London
d) A system of road pricing where a tax is levied on drivers which is directly related to the amount of road usage, e.g. a fixed charge paid whenever a particular area is entered.

e) The basic transport links that enable the economy and its citizens to travel quickly, safely and efficiently, e.g. motorways


3. Outline two

3.1 Outline two probable effects upon businesses of falling transport costs globally
______________________________________________________________________________________
______________________________________________________________________________________
3.2 Outline two effects on consumers of the dramatic falls in digital/online communications
______________________________________________________________________________________
______________________________________________________________________________________
4. True or false – justify your answer for an additional mark:

4.1 Superfast broadband should be as much of a consumer right as clean tap water:

     True / False

Reason: ________________________________________________________________________________

4.2 Falling transport costs encourage business decisions counter to good environmental practice:
     True / False

Reason: ________________________________________________________________________________

74. ANSWERS – Improving transport and communications cost effectiveness
1. exchange … production … inputs … distribution … globalisation … markets

2.

1. d)
2. e)
3. a)
4. b)
5. c)

3. Outline two

3.1 Outline two probable effects upon businesses of falling transport costs globally

· Encourages firms to use global opportunities such as Tesco sending Scottish salmon to China to be sliced and packed, then transported back for sales in the UK (that’s a 20,000 mile round trip)

· Increases the competitiveness of markets worldwide, as it’s easy to export to other countries

3.2 Outline two effects on consumers of the dramatic falls in digital/online communications

· It has made possible the lightning fast price comparisons that may make shopping more cost effective (but beware of sites that pretend to be objective but aren’t really)

· It has allowed companies to tailor the advertising you see online to the individual’s interests (sometimes irritatingly so, but at other times probably quite useful)
4. True or false – justify your answer for an additional mark:

4.1 Superfast broadband should be as much of a consumer right as clean tap water:

     True / False

· You’re welcome to answer true or false, depending on your own views/argument. Personally I’m going with the notion that the statement is false, because clean tap water is a matter of life and death

4.2 Falling transport costs encourage business decisions counter to good environmental practice:
     True 
· \seems unarguable. Salmon sent to China may make business sense, but only in a world in which fossil fuels are perhaps underpriced in relation to the harm they inflict on the environment
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